H & 0l & AHS B Ml A

20233 =0lat S22 0II=SESH M

S SXEBD
Ha: 0| ZMEBUE

oel: NASS EIEEXT%(BIESOJIJE%%@J#I) (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SXE M 836,556 755,024 81,532
= 110,468
[ 29,304
= 34,944
Ea 661,840
=D ZdE2E 749,234 690,473 58,761
= 110,468
S 27,618
o 611,148
HNASE A=K (A=SSHIISELEAH) 749,234 690,473 58,761
= 110,468
= 27,618
Ea 611,148
SRR HHIAEX(AZAZTSHAEEIEX) 127,393 112,364 15,029
= 101,914
= 25,479
307 @120l & 127,393 112,364 15,029
= 101,914
= 25,479
01 22X 2| 127,393 112,364 16,029
Osl=ss0t(AZd2 [ AL, FHEET]
Jl, |, 2RI1RL3843, =2 ) 127,393
= 101,914
s 25,479
SR HBAEE(HH2HHHI) 10,693 12,000 1,307
= 8,554
== 2,139
201 fer=2 3| 4,104 5,410 1,306
= 2,840
= 1,264
01 At2t2l] 4,104 5,410 21,306
Oget=ZH] 3,504
—E2= W& 10,0002 «200H 2,000
= 1,200
== 800
—ol2302elAL WEHI(13]) 400
= 320
= 80
—DRBHEH S AIRES
552,000 ~2H 1,104
= 840
=S 264
Oflzgyel?dal 2d+2
100,000 x3& x22| 600




SA: SN
Hu: 20| ZMEIY

oL MASS o2X|2(A2307I2=EsIH) (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 480
=S 120
202 04l 6.589 6,590 A
= 5,714
== 875
01 2L AL 6,589 6,590 A
o230 gf=u 6,589
—2IS S0 ZeIA 2L
260,000« 1H« 122 3,120
= 2,6%
[ 424
—es0E A 2o
200,000 «1H =122 2,400
= 2,120
& 280
— 220 (2H=SRRF2 NSS) 1,069
= 898
= 171
AR SHMRHHMBYEER (AR SHEZHIXI) 611,148 566,109 45,039
308 AHXIEMSOIH 611,148 566,109 45,039
07 M HHIRE = 611,148 566,109 45,039
O2=g80 A=l S 611,148
AH2LIH(SXEFHD) 55,498 53,193 2,305
= 29,304
= 7,326
o 18,868
(ARSI SEA) 55,498 53,193 2,305
[ 29,304
= 7,326
Ea 18,868
Atell2iel MERIA OHA (22lArE]) 55,498 53,193 2,305
[ 29,304
= 7,326
= 18,8068
101 @124H| 50,338 48,393 1,945
= 26,580
[ 6,552
Ea 17,206
03 SR (RINHA) 222+ 50,338 48,393 1,945
O2 280 cIAt 2I2H| 44,338
—Jl2= 2,879, 1003« 1H* 122 34,550
= 19,390
< 4,754




SH: =NEMY
. HY2IZU(SXEF
chel: olHA2IH|(A2SHIISSESIH) (G2 &2l)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
i 10,406
—Al2tel g
18,9663 * 1H+20Al 2t 12 4,552
s 3,641
& 911
—E&ZHEYEZ 258,000& x 1+ 122 3,0%
= 2,477
= 619
—GII2 &t 80,0003 *1Z 10! 800
—HNEAS 1,340,000& 18 *13] 1,340
s 1,072
& 268
ogzEse 2,899, 180& *23] x60% 3,480
otz 80,0003 *12& 960
O&g&EHASY 130,000& x 12& 1,560
34 HAFRESS 5,160 4,800 360
s 2,724
T 774
[ 1,662
M SR (RIAHN) 22X BEa28=2 S 5,160 960 4,200
Ollz=02elA 400 E8=
430,000+ 128 5,160
s 2,724
& 774
[ 1,662
MHRES(SXE ) 31,824 11,358 20,466
BAEXNE(LZ20HIISSESIA) 31,824 11,358 20,466
og=0 BrEzg 31,824 11,358 20,466
802 Brat32J|Et 31,824 11,358 20,466
01 2NEXFLEZ3 20,762 0 20,762
O22dE o220 =NExa vy 20,762
2 Al - EHIEZSEES 4,820 0 4,820
Q20229 2220 ANEEXs Bty 4,820
03 J|EtEtE 2 S 6,242 11,358 Ab,116
ORYIS3 & 743 S 6,242




